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pandas_20190107

i FHPython#£ 1T &R #21 — Pandast]]££

In [1]:

# BA L )E
import pandas as pd
pd. version  #&EKK

Out[l]:

'0.23.0"

1.Fgread_csv()7K:EElcsviE

In [2]:
EVCSVE/\

df = pd.read csv("C:/ArkEase Pro/py pandas/data/SRDA20181107.csv")
B
df
Out[2]:

id | sex |age |al1|a2|a3 |a4 ka4
0[(1001(1.0 (43 |2 |1 [1 |5 |4TZ
1(1002 (2.0 |46 |3 |1 [2 |3 |NaN
2(1003|1.0 |28 [1 |2 |3 |5 |NaN
3(1004 [NaN([25 |4 [2 |4 |2 |NaN
411005|2.0 |77 |2 |9 |5 |1 |[EHFEMHFHEZEMRL
51006 (2.0 (55 |3 |3 [6 |3 |NaN
6(1006(3.0 |60 (2 |3 |7 |5 |B5R
7(1008 [NaN (18 |1 |4 (8 |4 |NaN
8(1009|1.0 [15 (2 |4 |9 [4 |NaN
9(1010|2.0 (65 |2 |9 [10|3 |NaN

2.Fduplicated() ki EEEE

In [3]:

# AT
cdl = df.duplicated('id")
df.id[cdl] #/(E#H/idEEE

Out[3]:

6 1006
Name: id, dtype: int64

http://localhost:8888/nbconvert/html/ArkEase%20Pro/py_pandas/pandas_20190107.ipynb?download=false

#aE AT TR

1/8



2019/1/7 pandas_20190107

In [4]:

# IS —IIFERHE - 2R BRI -
df.id[df.duplicated('id")]

Out[4]:

6 1006
Name: id, dtype: int64

3.Hisna()Zkip & ERE

In [5]:

# fREENE/ HCE (missing value/ data)
cd2 = df['sex'].isnal()
df.sex[cd2] #/E#HsexFIE

Out[5]:
3 NaN
7 NaN

Name: sex, dtype: floaté64

4. Hisin()ZRig &5 € H

()& &R B A G 55k

In [6]:

# [REIFEELRHHE
cd3 = df['id'].1isin([10067])
df [cd3] #fH1EEER

Out[6]:

id |sex|age |a1|a2 (a3 (a4 ka4

5/1006(2.0 |55 |3 (3 |6 |3 [NaN

61006 (3.0 |60 (2 |3 |7 |5 |B%R

In [7]:

# IKIREFEK - L ATESY 1 AR -
df .id[cd3] #/&# 1 d2E

Out[7]:
5 1006
6 1006

Name: id, dtype: int64
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In [8]:

# IR B S — IV EER
df [df['id'].1sin([1006])]

Out[8]:

id |sex|age |a1|a2 (a3 (a4 ka4
5/1006/2.0 [55 |3 [3 (6 |3 |NaN
6/1006|3.0 |60 |2 (3 |7 |5 |FEE
In [9]:

# HoEiE S A Alduplicated ()
df [df['id'].isin([df.id[df.duplicated ('id")]])]

Oout[9]:

id |sex|age |a1|a2 (a3 (a4 ka4
5/1006|2.0 [55 |3 [3 (6 |3 |NaN
61006 (3.0 |60 |2 |3 |7 |5 |E&8Kk
QEEBIEE
In [107]:

# IREIEEIH

cd4d = ~df['sex'].isin(['1l", '2'])
df (cdd] HILBEER

Out[10]:

id |sex|age [a1|a2|a3 |a4 ka4
3|1004 |NaN|25 (4 (2 |4 |2 [NaN
61006 (3.0 [60 |2 |3 |7 |5 |H%&
7|1008 |NaN|18 (1 (4 |8 |4 [NaN
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In [117]:

# IR —SYFER AT
df [~df['sex'].isin(['1l", '2'])]

Out[1l1l]:

id | sex |age |al1|a2|a3|a4 ka4

3(1004 (NaN|25 |4 |2 |4 |2 [NaN

6[1006 (3.0 (60 |2 |3 |7 |5 |E%K

711008 |NaN|18 |1 |4 (8 |4 [NaN

(3)%& H MR e 4

In [12]:

# REBES

# IR fal BIR[OE (4) HLZEEFE - a2 BIRTRIE

# EAFS - el BIRIIE G » a2BIRGITAEY (BEEHE) ¢ 5 al BIRTE Y » a2 8054159 -

cd5 = ((df['al'].isin(['4']) & ~df['a2'].isin(['9'])) |
(~df['al'].isin(['4']) & df['a2'].isin(['9'])))

df [cd5]

Out[1l2]:

id | sex|age |al1|a2|a3|a4 ka4

3|1004 |NaN|25 |4 |2 (4 |2 |[NaN

4(1005(2.0 |77 |2 |9 |5 |1 |HEHz@EMZFEAT
9(1010(2.0 |65 |2 |9 [10|3 |NaN

In [13]:

# B ER
# KGR a4 B0 (5) A kad ZBIHEFEA LT -
# 1E1EG: Had B A » kad BIEAIEERS (NaN) ;[T ad B F/EIEES » kad BIHHRALF -
cd6 = (((df['a4'] == 5) & (df['ka4d'].isna())) |
((df['ad'].isin([1, 2, 3, 41)) & (df['kad'].notna())))
df[['id', 'a4', 'ka4d'l]llcd6] ##piiid - adflikadZE

Out[13]:

id a4 ka4

21003 |5 |NaN
41005 |1 | HZEHEET

5.F between()Z K& &M {E
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In [14]:

cd7 = ~df['age'].between (18, 65)
df.agelcd7] ##j/flageZIH

Out[1l4]:
4 77
8 15

Name: age, dtype: int64

6. FlocllfE Bkt

(MFAZESIME (index)

In [15]:

t FUHE T EESEF
df.loc[6, 'id']l = 1007

df.id ##yiHidEE
Out[15]:

1001
1002
1003
1004
1005
1006
1007
1008
1009
1010
Name: id, dtype: int64

O 00 J o U W DN P O

(2)F F B A 4R 55t
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In [16]:

# FIFEAR IR
df.loc[df['id']==1007,

df[['id"

Out[lo]:

, 'sex']]

id

seXx

01001

1.0

111002

2.0

1003

1.0

1004

NaN

1005

2.0

1006

2.0

1007

2.0

1008

NaN

1009

1.0

Ol | N[l |~ ]|DN

1010

20

'sex"']

#4111 ARl Isex ZIH

7.Frename()3K 5 K B TEH 4 7%

In [17]:

# IS

df = df.rename (columns={'kad4':'ka4 o'})

df.columns ##7/ficolumns

Out[1l7]:

Index (['id"',

ct')

sex',

lage|,

8.Hreplace()E H 4wt

(NE—ZH

=2

pandas_20190107

4

'kad4 o'], dtype='obje
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In [18]:

# R - [

df['a2'].replace({1:1, 2:1, 3:2, 4:2, 9:9}, inplace=True) #inplace=True7] ZEA

pandas_20190107

daf
Out[18]:

id [sex |age |a1|a2|a3 |a4 kad_o
0(1001(1.0 |43 (2 |1 (1 |5 |[4T&EL
1/1002(2.0 {46 |3 (1 [2 [3 |NaN
2(1003|1.0 |28 [1 |1 |3 |5 |NaN
3(1004|NaN|25 (4 |1 |4 |2 |NaN
4(1005(2.0 |77 (2 |9 |5 |1 |EZfseElL
5(1006(2.0 |55 (3 |2 |6 |3 |NaN
6(1007|2.0 |60 (2 |2 |7 |5 |58&
7(1008|NaN|18 (1 [2 |8 |4 |NaN
8(1009(1.0 [15 (2 |2 |9 [4 |NaN
9(1010|2.0 (65 |2 |9 [10|3 |NaN
(274 2R
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In [19]:

# B - A

df['new a3'] = df['a3'].replace({1:1, 2:1, 3:1, 4:1, 5:1,

pandas_20190107

df
Oout[19]:

id | sex|age |al1|a2|a3|a4 ka4_o |new_a3
0(/1001|1.0 |43 (2 [1 |1 |5 [T&ET 1
1(1002(2.0 |46 |3 |1 |2 |3 |NaN 1
2(1003(1.0 {28 |1 [1 [3 |5 |NaN 1
3(1004 |NaN|25 (4 [1 |4 |2 |NaN 1
411005(2.0 77 |2 |9 |5 |1 |EZEMEENAT |1
5/1006 2.0 |55 (3 (2 |6 |3 [NaN 2
6/1007|2.0 |60 (2 |2 |7 |5 |B8RE 2
71008 |[NaN|18 (1 |2 [8 |4 [NaN 2
8(1009(1.0 (15 |2 [2 |9 |4 |NaN 2
9(1010|2.0 |65 [2 |9 |[10]|3 |NaN 2
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